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CBSE NCERT Solutions for Class 8 Mathematics Chapter 1

Back of Chapter Questions

1. Using appropriate properties find.

(i1) Ex(ﬁ)—%xi+ix§

7 2 14
Solution:
(1) ?x%-&-%—%x;—=?Kg—gxé-}-g{hymmmutativiry]
2 = =3 BB
=35 +(?)"a+§
= () (3+) +2 (by distributivity)
-3 5 5
"3
-1 5
=213
-1+5
TR
4
2
=12
chce.—;xi-}—g % %=2

-= 2 —3 1 3 1 2 2 =3 2 2 1 3 s
(11) o X (—) S R = (T) g i E|[I:|:,- commutativity)
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-2 1
14 4
-1
~ 28
Hence, = X (_—3) st Ry, 213
5 7 =) 2 14 5 28
2, Write the additive inverse of each of the following
: 2
(1) P
i -5
(i1) =
=
(111) =
. 2
(iv) =
i9
(v) =,

Solution:
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We know that for any number a, a + (—a) = 0, So, —a is called the additive

inverse of a.

H iia . Bl =2

(1) Additive inverse nfE is—

55 T : kg

(11) Additive inverse of? is
-6 &

— . -6 . —6

Hence, additive inverse of =S
- i : s
(iv)  Additive inverse of o &

(v) Additive inverse crf'i—: IS %

3. Verify that - (- x) = x for
: -
(1) R PT
rs = _E
(11) X

Solution:

(1) The additive inverse of — is — —
15 15
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11

Since%-l- (——) = {)

15
Ju_ omn
5=~
Hence verified.
(11) The additive inverse of — = js 22
17 17
. 13 13y
Since —E+ (E) =10

13 ( 13)
= —=—|-—

17 17
Hence verified.

Find the multiplicative inverse of the following.

(i) —13

(i) -
(iii) =

W X
(v) -1x=
(vi) -1

Solution:

' Lo " ' ' -
As we know that a rational number — is the multiplicative inverse of another

- [/ SR | c
rational numhcrE th » Fia 1

So.5=

b
d a

MR T . . - b
Or we can say that multiplicative inverse of % is —

(1) Multiplicative inverse of —13 is ;—;

Since —13 X =1
13

o o : i —13 —19
(ii) Multiplicative inverse of — = —
19 13
i =13 —19
Smece—x—=1
19 13 "
(i) Multiplicative inverse of  is 5
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Since§x5= 1

’ i : i =5 =3 15 . 56
(iv)  Multiplicative inverse of — X —=—1s—
a8 7 1= 15
. 15 56
Since — x—=1
56 15

(v) Multiplicative inverse of —1 X _?2 = % is;
Since> X2 =1
5 2
(vi)  Multiplicative inverse of —11s —1

Since—1x—-1=1

5. Name the property under multiplication used in each of the following
(i) ?m = 1x‘—5“=‘?‘*
e
(i) —x—=1
Solution:

(i) Multiplicative identity

(1)  Commutative property

(iii)  Multiplicative inverse property
6. Multiply % by the reciprocal of ;—:

Solution:

! =T5% =16
The reciprocal of — is —
16 7

According to the question,
~16 B —96

7 Vg3 9%
Hence, Multiplication 1:-1‘"1—'5'3 by the reciprocal ﬂf;—:
7. Tell what property allows you to mmpum% X (6 X %) as E X ﬁ) x 4:.
Solution:
By using associative property of multiplication,

aX(bxc)=(axb)xc
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10.

11.
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Is = the multiplicative inverse of == et Why or why not?
9 B

Solution:

1. =i
—12is egaul to -
So, multiplicative inverse of b

a8 9
Since, — X = =1
B 9

Hence, g is not the multiplicative inverse of —1 é

Is 0.3 the multiplicative inverse of 3 % ? Why or why not?

Solution:

3

TR . i - b

As we know, multiplicative inverse of 55
b 1 o 3 - 1D
So multiplicative inverse of L

Which is equal to 32
3

Write.

(i) The rational number that does not have a reciprocal.
(11) The rational numbers that are equal to their reciprocals.
(i1f)  The rational number that is equal to its negative.

Solution:

(i) 0

(i) 1,-1

(i) O

Fill in the blanks.

(i) Zero has reciprocal.

(i1) The numbers and are their own reciprocals

(iif)  The reciprocal of - 5is
(iv)  Reciprocal of i ,wherex £ 0 is

(v)  The product of two rational numbers is always a
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(vi)  The reciprocal of a positive rational number is
Solution:
(i) Zero has no reciprocal

(11) The numbers 1 and —1 are their own reciprocals
(iif)  The reciprocal of —5 is _ig
(iv)  Reciprocal Df% ,wherex £ 0is x

(v)  The product of two rational number is always a rational number.

(vi)  The reciprocal of a positive rational number is positive.

Exercise 1.2

1.

2.

Represent these numbers on the number line

G
(i) =
Solution:
2 7 3
ol
1 2
—t P+
01 2 3435 6 7 8
4 1 4 4 4 7 4 4
(i)  LetM==
A1 M
‘. >
R FEEESEENES -2 ] 0

— m— — — — — —

-2 -5 —9 "
Represent — ,—,— on the number line.
11 " 1111

Solution:

Let—= = C,
11
2 = Band

11
_Q_A
13
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L 1 B C
A1 305 8w o6 S ud @3 1 D

I1 11 11 11 11 11 11 11 1111 11

3. Write five rational numbers which are smaller than 2.
Solution:

The rational numbers smaller than 2 are

—
e
=
i
Bl |4 W W R W

(v)
4. Find ten rational numbers between _?2 and %
Solution:
= == 1
Rational numbers are o and 5

Here, L.C.M of 5 and 2 1s 10.

-z -z2_ 2 —4
So,Z2="2xi-2
5 5 2 10
1 1 5 5
Also,-=-x-=—
2 5 10
i - 2 —B
Agam, —=—X-=—
1 2 20
5 5 2 10
and, — = —x-=—
10 10 2 20
— 8 1 10
Hence, —=—and- = —
2 20

20"20"'20"20"20"20" 20" "20'20
5. Find five rational numbers between

. 2 4
i —and -
(1) : :
e -3 5
(i1) — and -

2 3

(i) }and%
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Solution:

(1)

(11)

(iif)

2 4
—and -
3 5

LCM.of3and5is 15

2 5 10
So,2=2x2=10
3 5 15
4 3 12
and-=-X-=—
5 3 15
N ] -+ 40
Agamn, —= —X-=—
15 15 4 =11]
1 12 4 48
and — = — s
15 15 4 &l
2 40 4 48
Hence, - = —and - = —
3 a0 5 &0

i i 2 4 41 42 43 44 45
~ Five rational numbers bewteen - and - are —, —, —,—, —
3 5 &0 &0 &0 &0 &0

=3 5
2 3

ICMofZand3is 6

=1 =5 3 -9
So, S = x-=—
2 2 3 &
5 5 2 10
and>=>X"=—
3 3 2 [
—d 10
Hence, — = ——and - = —
2 [
! . e 5 == 1.2
~ Five rational numbers bewteen = and e, —, 0, i

1 1
—and -
3 2

ICMofd4and 2 is 4

1 1 I
So,-=-X-=-=
41 4
1 1 2 2
&— =% = -
2 2 2 4
i 1 1 8
Agam,-=-X-=—
3 &4 B 32
2 a8 16
and-=-x-=—
4 8 32
1 8 1 16
Hence,—- = —and - = —
4 32 2 3z

;i i 1 1 9 10 11 1z 13
~ Five rational numbers bewteen —and - are —, —, —, —, —.
4 2 32 32732 32 32

Write five rational numbers greater than -2
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Solution:

The rational numbers greater than —2 are

—
=
e

Bl | = I |ds Wl WM W

& . 3 3
Find ten rational numbers between = and -
Solution:

3 3
—and -
5 4

LCMof5and 4 = 20

3 3 4 12
So,-=-X-=—
5 5 -+ 20
3 3 5 15
and-=-x-=—
4 & 5 20
. 2 1 B 96
Agam, —=—X-—=—
o 20 8 160
15 15 B 120
20 20 a8 160

~ 10 Rational numbers bewteen E and %ﬂl‘ﬂ

97 98 99 100 101 102 103 104 105 106

160'160"160'160"160"160'160"160" 160" 160

the
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